188,4+ 100D =
135,5 x 107 =
612 x 1001 =
—1x10=

1003 =

1004 =
883,6+ 1007 =
1003 =

100D =

1002 =

Aagull NGBS

735,7+ 100) =
426,2 x 1009 =
3% 104 =

6 x 1001 =
693,8 = 1001 =
1003 =
5x10=
1x10=

2x 100 =

3x10% =
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188,4 + 100" = 1884
135,5 x 107%) = 0.1355
612 x 10°) =612
~1x10=-10

1072 = 0.001

107 = 0.0001

883,6+ 107 = 883600
107 = 0.001

1077 =0.1

1002 = 0.01

dagnll

735,7+ 10" = 7357
426,2 x 107 = 0.04262
—3 % 107 = -0.0003
6x 107" = 0.6

693,8 + 107" = 6938
107% = 0.001

5% 10 = 50

1%x10=10

2% 107 = 0.0002

3 x 107 = 300
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